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General Instructions

This paper contains four sections

Section A — Reading - 20 Marks

Section B — Writing & Grammar - 20 Marks

Section C -- Literature - 40 Marks

All Sections are compulsory

Separate instructions are given with each section and question, wherever

necessary
Adhere to the word limit.

Section A — Reading (20 Marks)

I. Read the passage given below and answer the questions that follow:
(10M)

| Work is something we do, all through life. More important than the work we
do, is our attitude to it. From the moment we are born, till we die, work is being
done all the time, whether we like it or not. Whether we want it or not. Even
sitting idle or lying-in bed is an activity, a work. Breathing, digesting, sleeping,
waking up, blinking, keeping up our muscles tone, the slow process of
formation of new cells and destruction of old ones-all these activities are work
that goes on, with or without our consent. It is only in death that’ work truly
ceases. Many people feel that they would lie to retire at the age of 60 and do
‘nothing’. But as long as we are alive, it is impossible to do ‘nothing’.

2. Having agreed that work is unavoidable, we need to look at how we do the

work. Whether it is a child who is playing, a mother who is feeding the child, a
house help who is sweeping the floor, or a physician who is saving lives- what
is important in all these activities is our attitude. Are you doing your work with




a happy, ereative, cheertul outlook, or are you constantly complaining and
wishing tor something' else o do? Because i you are miserable dmr%. d1h :
work allotied to you, rest assured that you'll remain miserable in “ﬁali{ ,:\
vou do, .~

1. Sinee work and activity is unavoidable, why not 1o do it with pleasure. with
interest. with involvement, with joy Whatis inour hands, is how to react 1o the
work that we do. When you are, standing in the queue 1o pay your child's fees,
or waiting at a government office to renew your license or passport, you have
only two choices: either spend the time relaxing and making friends with others
standing in line, or spend the time irritated, angry and frustrated

4. What is worship? It is offering something to God. Here, we are offering our

work to God. We normally work only for our own benefit, for our own profits.
When we are ready to give up this benetit, this profit, and accept anything and

everything that comes our way as a blessing from God. then our work becomes
worship,

Answer the following questions brietly: 1x10= 10

) What are the various things happening inside of our body that we are not
aware of?

b) What is more important work or attitude?

¢) What kind of attitude should we possess towards our work?

d) When does work become worship?

¢) Work become worship when we stop worrying about

() Attitude is more important than work because it is our attitude that makes
thewothsa

g) The synonym of “advantage inpatads

h) The synonym of *disappointed” in para 3is

i) The antonym of *gloomy’ in para 2 is ]

i) The antonym of *continue’ in para | is

[1. Read the passage given below and choose the most suitable option:

(1x 10 =10)
| India is the third largest fish-producing country and the second largest
aquaculture fish producer in the world. [ndia contributes about 7% to i%lnbal fish
production. The country is also home to more than 10% ot the global fish
biodiversity and is one of' the 17-mega biodiversity-rich countnes.
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Answer the following by choosing the most suitable option:

a) In the line "India is the largest fish producing country..." the word
e P IR s Tl § .fr

aguaculiture’ means

1) growing aquatic creatures for food

i1) the culture of aquatic life

) growing aquatic creatures for culture

iv) growing aquatic creatures to improve soil

b) Fisheries can be an “economic activity if
i) fish are left wild or confined in a space
i) fish are caught from the wild and then confined in a space

iti) fish are harvested from i:h_c Wild or raised in confinement
iv) fish are confined in the wild .

A ————
st




findings s hat
¢) One of the important RS

. —-_—:-_—-—_-_.____

) around 14 million people thiVE 00 agncuinre
ound i+ mti ke neaced in Se

ii) around 14 million peopie & SNS32eC In fisheries

i g RAREE = e . 1

iii) around 14 million fishenes arc N India

. : “ihaon hishot
Iv) around 14 mithon By

i1 had the highest exporn in ©
d) Which is the state that had 1< TS _*;_“ . \F\_-" in 2
: K erala ii1) Andhra Pradesh ) K aiantad <
1) Goa inKeral amatak.

3
=

e) Choose the correct option for the stéteme}xts given below -
R.amu Majhi isa "‘oam‘:tr who catches fish from
— ShJHLL \lJ\. .'ﬂ‘ h i~ -‘i Smid

 small

'-
& San
LA
s

1
.

1 his land and grows fish
i) Ramuisa uxhu.c fisherman ?“;.“."u is & capture fisherman
i) Ramu is a capture fisherman Shamu is a culture fisherman
iii) Ramu is a traditional fisherman  Shamu is a traditional fisherman
iv) Ramu carches LOld blooded fish Shamu catches aguatic crean res
) According to the chart which is the second highest marine exporter in
20122

i) Andhra Pradesh i) Maharashtra  iii) Gujarat vi) Goa
g) Fish. in general, is a
1) hot-blooded it) cold-bl

iv) amphibians

h) Of the 12.60 million metric tonnes

of the total production was
from culture tz;nen 2S.
i)435% 1)75% 1 )50% o0,

i) Find the synonym of *marine” from the o options

given below.
1)aquatic ii) amphibious i) wild

iv) inland

J) Find the antonym of the word - tfreedom” from the options given below
1) liberation  ii) release

111) confinement 1v) lenience

SECTION B - Grammar & Writing (20 marks)

I11. a) Complete the following passage by choosing the correct option from
those given below: .

(12x4=2M)

This poem (a) E.g. paints (paint, paints, painting. will paint) a portrait of
Abraham Lincoln. He (b)_______‘__{is. was. are. were) probably the greatest
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of slaves. He (d) (murders, murdered, was murdered,
V2 3 . R
a8 Tﬂurce!’m-g_, N gL.c e
C— ¥ b ] i |

i - & t b H foyre he (e )
niddle of his term as President but not before he (¢

| T (unite, united, was uniting, had united) the rival states of North

America N0 a greas nation

b .
) The following Passage has not been edited. There is an error in each

.' line. W rite the incorrect word and the correct word. ke
Incorrect Correct
‘ f2) Acrobatics and Yogaprovide aintegral Eg 2 .
. (b) methodical and harmony development of  .........
(c)all "'UG:' pans. while juggling require vou = .........

(@) to silence the mind and concentrates. ftalso  .........

bia ) i . ) A
(€) he‘p Improve one’s muscles and mental agility ......... ...

¢) Read the following dialogues and report in indirect narration.

(1 x4=4)
Master : How are you feeling now”?
Worker : | am feeling better but I am not completely fine.
Master : Do vou need more rest?
Worker : It is okay. | will repont tomorrow
Master asked his worker (a) .The worker replied
(b) completely fine. The master further (c) more

rest. The worker replied that (d)
IV) Creative Writing

2. Write a diary entry in 150-200 words based on the given cue. (SM)
er who does the cleaning in your house. The

break to your mother by shouldering certain

You have been given the task of cleaning your
¢ in the form of a diary entry in about 1 50-200

It is usually your mh
family decides to give a
househoid responsibilitics.
house. Write your expernenc
words.
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b. Write a paragraph describing 2 jom:ney, imaging
undertaken. You can follow the steps given belgyy. e 3;2‘;1‘;3%

I Prepare an itinerary. 2. You can make use of the fo[1,,
ng EXpressions,
phrases and proverbs frequently used by travellers,

e s - ’ - u_-—-a_‘h—‘—‘_——‘“—‘

' Jetlag, itchy feet, hit the road, timetable, on the home stretch m.--i) —

{ 3 " ’ Y, dook |
in advance, travel over. travel through, travel light, any o0 storm '!

. stopover, elc,

e ———

Section C — Literature (40 Marks)

e —

V) Read the following extract and choose the correct option : (5+5=1¢ M)

a) | will arise and go now, and go to Innisfree,

And a small cabin build there. of clay and wattles made:
Nine beans row will [ have there, a hive for the honeybee,
And live alone in the bee-loud glade.

(1) Why does the poet wish to live alone _
a) because he feels drained out in the city
b) he is nostzlgic about tranquil Innisiree where he spent his childhood
C) he wants 10 be away from the meaningless existence of the city
d) he wants to be one with nature

(ii) The rhyme scheme inthe stanzais
aj abab b) azbb ¢) aaba d) free verse

(i11) The poet uses the word "go” twice in line | to show
a) his hesitation  b) his resolve c) his joy d) his distress

(iv) Identify the poetic device in - *And live alone in the bee-loud glade’.
a) simile  b) personification ¢) repetition  d) alliteration

(v) Find the synonym of the word ‘only”.
a) live bjtogether  cjalone d)glade
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() What has Glennie accomplished?
) She haw got all top awards,
DY Nhe is hugely poputar o her disabiliny
) She has achieyved more than others, overcoming hor dis E
d) She has brought orchestra into the limelight

D What accomplishments does this passage referto
) She has brought percussion (o the forefront.
DYShe gives regular concerts
) She has learnt basie Japanese - T
d) She has lilled all top awards that take someone a liletime to achieve.

(1) 1 can be very moving' means

a) Tt can displace you from your seal

b)Y 1t can push you

¢) Lt ean atlect you emotionally

) It can influence you for a few moments

(V) *Look to her™ can be replaced with
a) glance at her
b) gaze at her
¢) sheis very tall, so they look up at her
d)admire her

(V) The meaning of *demonstrated’ is
a) Shone b) shown  ¢) spectacle  d) soon

VL
i) Answer the following questions in 40 to 50 words: (3x6=18)
a. What kind of teachers did Margie and Tommy have?
b. How is Kezia’s father different from Mr. MacDonald?
¢. Why does the lost child lose interest in the things that he wanted earlier?
d. The wind is a symbol of power and strength. How can we befriend it and
survive?
¢. What do the two roads symbolise? What is the significance of choosing a
road?
f. Describe Mahindra’s character.
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Imagine yourself to be the author’s grandtather. You are trustrated with
Foto's behay ior. You have no chotce but part wavs, Express your
thoughts in the form of a diary entny.
) OR
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How did stupidity and gread bring about the downfall of the foolish King

and his mimster?
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SINDHI yiGH SCHOOL, BENN [2022-23]

HALF.YEARLY EXAMINATIO
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C.lass; X SUBJECT L2 '\q—{q’;—a—;{ - MarkS! 80

Date:lQ.OQ 2022 R::ding Time: 8:00 to 8:15 am
\} . 2 .

=2 of Sides:og Writing Time: 8:15 t0 11:15 am
Iustructions:

®  Wr _
. Reaze \:our Name, Roll number, Section in the answer script.
- tl\r\sw:gl t:;e!?uesﬁons carefully.

31! the Questions 3 i
\\‘5‘:" nd write neatly.
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& Q. e U JUENT: P BT ?
2. T fob O: were Sl ore 7 e 2
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? % gﬁ:m:ﬁmmav‘@?m?

3) 3E M d I
2. fa=q ma?:uufq:aﬁﬁgaa:?
3f) &UFH oM TEF 3 U Q) T,
3 e v ot TR e . | e e fope 2

g) ma@aﬁﬁwwmﬂl 1x1=1

Page-1



ECRUE

3311 ot e Rrearg T v TerETE R | 1x5=5

S
R e f‘u?‘??\'f’:ﬁ:{?:%?é';rfj\_. O 1
S e s e
BRI RN ,s:@‘;',-'; rJ‘!f}?"m' e
(o ) .,fi}f %igﬁ“@ NS SR SR
il z@ e e ¥
2 i'é s e

W S
i ”%‘ﬁi‘fﬁ%‘% i R
¥. SrdiferfRarent™ W rarg T e | 1X5=5

3. TGd GIHTIT B | Sanskrit is a divine language.

2, W%WWW% | There is a beautiful garden out of the house

3. 31T (31)) H MR Bl (TR) SIIdTg IToday | am going to the city.

¥. & gRfe (Uffe) U=ia UgT |1 am reading Panchatantram everyday.

Y, TGP 3O EI% & 1Y T | Boys went with their friends,
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U
“ " SINDHI HIGH SCHOOL, 2
% HALF.YEARLY EXAMINATION [20
> SUBJECT: SOCIAL S8CIENCE

Class: IX Max Marks: o 8:00 to o:
5 1:15 am

Date:20.09.202 Time:
s 2 ding :
No of Sides:06 ‘?I::tlnﬁ Time: 8:15 to 1

General Instructions:
: Ihc Question Paper i1s divided into 5 5 ark each.
.‘u tion A has 17 questions. Question 1-17 for 1 mar oot
* Section B has 6 questions. Question 18-23 for 4 marks cacn.
* Section C has 3 questions Question 24-26 for 3 marks each.
- f?cr;nuu D has 5 questions. Question 27-31 for 5 marks each.
* Section E has 2 map-based questions.

ections with 3

32 I History map for 2 marks.
32.2 Geography map 3 marks. i
SECTION- A T
ce from the

I France helped the  American colonies to gain their independen

common enemy, Britain.
(a) Thirteen
(b) Fourteen

(c) fifteen
(d) sixteen

2. The Marseillaise is the national anthem of _ s
(c) America

(a) France

(b) Britain (d) Germany
3.In_ women in France won the right to vote.
(a) 1789 (c) 1946
(b) 1846 (d) 1947

and

4. Prominent industrial areas of Russia were )
(c) St Petersburg, Moscow

(a) St Petersburg, Finland
(b) Poland, Moscow (d) Finland, Moscow

5. The Tropic of Cancer does not pass through

(a) Rajasthan (c) Chhattisgarh
(b) Odisha (d) Tripura
6, Which of the following channel separates India from Sri Lanka?
(a) Gulf of Kuchchh (¢) Gulf of Khambat
(d) Gulf of Mannar

(b) Gulf of Bay

Page - |



8. Which of g

9. Whic}
2 ich of the & .
TOIio“-mg waterfalls is made by river Kaveri and

- The Kangra 5

) gh
¢) l-linmclml Prade

nd }
Kully vallev ave located in
y Uttar I’rudcsh

(2) Uttarakpap, d
am
MU and Kashmiy (d
e fo - P
”0\““3 18 a freshwater lake in Jammu Kashmir.
(©) [oktak

(8) Wylar
(d) Vembanad

(b) KO“eru

is the second largest

Waterfall in India,
c) Shivanasmnmlru

(a) Jog
(b) Dhuadar (d) Hogenakal

10. Ad .
- A democrat r :
I government is a better form of government because ______—

gg IIt IS more accountable

t improv :

©) It gr?lfarg;:; 311 : ;ﬁ“a“‘f‘ of decision making
e sk, £

(d) All of the above gnity of citizens

constitution for discussion.

11. . X
A drafting commitiee chaired by prepared a draft
(©)Dr.BR Ambedkar

12

13

(a) Gandhi

o e (d) Jawaharlal Nehru

e head of the State is an elected person and not a hereditary head. Give one word.

. “Save De e . .
Democracy™ was the slogan given by Janata Party under the leadership of

Jayaprakash Narayan. True or false?

14. A part of the land area is devoted to grow in the village Palampur.

((:) gm"m (c) Sugarcane
e (d) Wheat

15. ‘Bigha” and ‘Guintha’ are

16.

17.

(a) the type of village house

(b) the type of hybrid seeds

(c) the measuring units of grain

(d) the measuring units of land area in village

is included in the tertiary sector.
O (c) Manufacturin
e @ Mining

is a significant step towards providing elementary educati ;

(a) Mid-day meal scheme on to all children.
(b) Rashtriya Madhyamik Shiksha Abhiyan
(c) Sarva Siksha Abhiyan
(d) None of these
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Whey o S g deatpged thet N T AL e

|H|Iiiq|“ o r\';l“ll- (el 0y g il | rar wihite “"}M'Ml”;b” ek
Mg {;lll\' Wit e ed il ealled Ao [y 1euls ey e
\\utl‘“' o N el e by Hip J jiel al

£33 {nda I,. Wecollec tive Turmn Lor o yniiety Gl peaatt it

lll|l'|li Belent coltrvation Tk freaptedd e fie ”'”n/“f{,fu TIIENs

iyt il
i e ety

visllos b ,;f-:f!":fiffl“"f
I/ 1k it
: ”U'Mﬂ,f’

O W oo e « ollec tivlsntlon'
| lihustit 1%

) Ialiha meansg
{ Ji]
/ skt i/

) Woll 1o [ At Ty
(i) none 61 1S

(h) ooy e |
fuch, thies bt

{4l ”;”“luflm“‘.'/: It
< Mty /it

(1) In Hphile il li”l i “\/I*M“-‘IH, l””'l”' [ ;’“’ THRIAE : hit
harvests of el 10y e af st deynstiting famines i therviet i
over 4 milhon died
(1) 19201940 (t UEIRNAY
(h) 19301944 (dy 194G 1947

() Why dich the peansnnts refuse o sell thele grain to et inent f;u'/t,ft;'l/ )
(n) Fixed prices (1) interested in holding, stooks

(b) Emergency mentiuios td) ull of the abirss
aiters India in the

19 Uhe viver Tndus vines i Dibet, near Like Mansarownt, 1loving, 765t it ¢
Lacdakh district of Jamm and Kashimis, 1§ fonms o plotirosgus gorgs in this part. beveral
Cashitnin

ributarien, the Zaskar, (e Nubra, the Shyok and the Hunza, join it in the ¥.
anetyes from the mouniaing &t

veglon, ‘The ndus Hows thiough Baltstan and Cllgit anl &

Attoek, ‘I'he Satluj, the Bens, the avi, the Chienab and the thelun join together W enter
the Indus near Mithankot in Pakdstan, Beyond this, the Inddug flowrs southiwards
aventunlly renching the Arabian fea, east of Woarachi, ‘The Indus plain has a very gentle
alope, With n total length of 2900 km, the Indus is one of the longest rivers of the world,
A little over a third of the Indug basin g Jocated in India it the states of Jammu and

K ashmir, Himachal Pradesh and the Punjub and the rest s in Pakistan,

ndus in the Kashmir region,

(v) Mubra

(dy Hatiza

(1) Which of the following s not a tributary of the |

(n) Satluj
(b) Shyok
egulations of the Indus Water Treaty (1960), India can use only

(2) According to the r
ent of (he total water carried by Indus river system.

pere
eas, the Ravi, the Chenab and the Jhelum join the Indus near

(3) The Satlyj, the I

ndus it used for irrigation in the states of &
- e

(4) In India the water of the |
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20. Ove
- Uver the yvears hi
powers eftht“i?'m‘é government changed the Constitution 5 08
= )
resident and make him less account®? JpF
nd demot

farassed ar " :
goy emm‘:;:td \\l};el,r meeting .disrupmd. public protests £ r
President. Tel we declared illegal. There was law that IS T g only gave the
ruling party"s t"\ﬂts%on and radio were controlled by the govet g 2 nent harasse
:hcsejeur:{a{‘t:frs_l on. There were independent news supers but gu t iud.?-"“”“'”th
that went &mg‘tf Wwho went against it. The governmen igm’"ed e '
(1) When did E_{t 1t and pressurised judges.
@) 1970 imbabwe become independent.
(c) 1880
(d) 1960

(b)Y 1980
(2) Name the |
e leader who ruled the country since independence:

{_3\ A democ -
(@) Cilr:;tirﬁg.,gjem:nem rules within limits set by ——
(b) People cuﬁ law and citizens' vights
() Rulér\~ are not change the current rulers
) Al 1: : | ot 'elected by the people
0 { of the above
(D party led the freedom struggle in Zimbabwe.
on. The country i divided
a elect one
h constituency
at cach
divided

2l.Ino SOl . N

mzoudit;:‘;en;‘&;lr‘;&ow an ;}reabtzascd system of representation.

repuesentative for Lok SPl;rtlfows of elections. The voters who live inan are

s called & Member of P JC; i'-a elections. The representative elected from eac

constitency should have ;mcfﬁl o'r an MP. Qur clonst}ttlltlon cl;leflrl.y specaﬁcs th‘

il i spccfﬁ.: e .l:ou:- A} equu! popu_lanon living within it. Each state 1s
umber of assembly constituencies.

(1) What are electoral constituencies?

2 fac:rj}o:k Sabha elections, the country is divided into __ constituencies.
(bj 5.1:‘ (c) 543
5 (d) 345
3) OTc:E oigi;‘eatures of a democratic election is that every vote should have
gﬁ Ecq{mi repisentaﬁon i ri'ght e -
_ (d) right to contest elections

held in all the constituencies at the same time, either on the same day or

(4) Elections are
within a few days. This is called .
(a) By-elections (c) Ge
-y neral elections
(b) Mid-term polls (d) all of the above

labourer. Like other such labourers, Kishora fi i
\ ; ound it di
from the wages that he received. A few years bacle?;ii:l:;gk?fg
an

77 Kishora is a farm
was under a government programme which was giving cheap loans

his family’s needs
from the bank. This

Page - 4



23. There was a village inhabited by several fam

10 po ; . He nowW sel
bufl?facl);‘i;all(j-less households, Kishora bought a buffalo with (018 ?l nz)rlld uses it to
milk. Further, he ha S oden cart 10 buf! pack clay for
) as attached a wooden . Ganga 10 bring dities
ver G2 ther commodities:

n‘anipon vari

s Py vl :

the potter. Oll.oug ltems. Once a week, he goes to the 11 ogery OF O

Every mont SOmetimes he goes to Shahpur with 2 Joad of jagE s able to earn more
y 1 he gets some work in transport. As a result Kishord

than whg
) \\"i]}:aél};eIgSEd 10 do some years back.
) },{e o ;shora take loan?
b) T ; S ow wages as a land labourer
Ufil his family’s need
¢) For extra incoma
” ~:,1)_:-\Il of the above
(2) Kishora bought buffalo by —
a) Taking loan from government bank
b) Taking loan from landlord
¢) Selling his wife jewellery
d) Selling his farm ‘
(3) How does Kishora earn his livelihood?
a) By selling buffalo milk |
b) By doing transport work
¢) By working as farm labourer
d) All of the above
(4) Kishora brought clay for potter from-
a) River Yamuna
b) River Kaveri

(c) River Ganga
(d) River Godavari

ilies. Each family produced enough to
their own clothes

feed its members. Each family met its needs by the members making

and teaching their own children. One of the families decided to send one of its sons to

an agriculture college. The boy got his admission in the nearby college of agriculture.
d came back to the village.

After some time he became qualified in agro engineering an
He proved to be so creative that he could design an improved type of plough, which
increased the vield of wheat. Thus a new job of agro engineer was created and filled in

the village.
(1) One family decided to send its son to an college.
a) Agriculture
b) Engineering
¢) Medical
d) None of these

(2) The families met its needs by
a) By making their own clothes
b) By teaching their own children.
c) Both a) and b)
d) None of the above
(3) What increased the yield of wheat in the village?

Page -5
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HECTION D BUE=A5

"
- i ST A
At )
SRR ment a peculiar problem of Tndia Boaplat
‘\‘ Nai .
\\ HAL akos alon LITR TR I T IR LET

o v

Mo 1) .
i l\llt\}.lll\!\ l\.-|\\.-.'1\ \\ vrivan !\hdl‘\ Hl\\l I'H'It' m I'l‘l”"l iy Wi ll““”n ”H‘Ipl et I”

n hioa

Lastany thive eatiies of the ventral I hlinils

- OR

‘\\.\:\i\ e Tongiudinal divisions, the Himalayas have heen divided an the baats ol reglons

O west o east baplam

W)

30 ) HoW Wan e e of wormen betore the Freneh [evalution® Togplain (A 2=8)
\I‘\ ln ‘hi\ '.““I\ VoA lh“ l\‘\\\h”l\‘”‘”\ Hi\\’l'”“””“t I“[hllllll |‘l| Ill\\‘H ”ll” h“l”ﬂll |lHj:ith«

the ltves of women. Bxplam

A1 Eaplain the Febmary Revolution of Russii
OR

Explain the October Revolution of 1917 in Rusala,

SECTION: It 213=8

B

12,1 On the outline ny
a) A Port of France
b) A Port of Franee relate

ol map of India locate the followlng:

ap of Franee identity the following through the eluen glven:

pelated to slave trade,
d to slave rade,

32.2 In the given polit
1. Capital of Madhy
OR  Malabar consl nnd

a Pradesh

> Kanchenjungd

3. ldc‘l“i“y the h!l\(\ ..,*a.q.**mﬂ‘mﬂﬂffﬂ“l' A A o ol o o o
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£y SINDHI HIGH SCHOOL, BENGALURU

o HALF YEARLY EXAMINATION (2022-23)
SUBJECT: SCIENCE

CLASS: IX MAX MARKS: 80
DATE:23/09/2022 READING TIME: 15 MIN
NO OF SIDES: 10 WRITING TIME: 3HOURS

(i) The question paper comprises of three sections, A3 and C. All
questions are compulsary,

(11) Section A- Al question numbers froml to 20 carrying one-mark comprises
of MO, Assertion — 12eason 1ype and Case study questions. They are to be
answered in one word or in one sentence.

(iii) Section B-Questions from 21-31 Jong answer type questions carrying 3
marks each. Answer 16 these guestions should not exceed 50 to 80 words.
(iv) Section C-questions from 32t0 34 arc long answer type questions
carrving § marks cach. Answer 1o these should not exceed 80 to

120 words.Answer should be brief and 1o the point. Also. the above
mentioned word limit hould be adhered to as far as possible.

CSECTION-A B |
).N6 OQUESTIONS o | Marks
A hich of the Tollowing figures correctly represents uniform motion of a
noving object’”’
§ {
fex) T b T ;
|
l |
£ £ |
z |
% z
7 7.
£ =
Time (8)—*
‘e » ! "dl ?
» |
z EL
S -1
£ &\
Time (g)——* :l
1

| water 12 Giled un 10 ¥ of its height, is moving with a uniform
A water tanker filled up 10 { hrakes. the water 1n the tank would

speed. On a sudden application o




.
———

(@) move backward
W oe

Law of
4 (a) the
L \thc‘ Earth an
() any two badies h

‘i'll\ ][..l
Earth an

fc-c“‘*r_,

W) o charged b-ed'e

¥

3 "\ unattected 0} move 1o ’T&\

ee Delween

Which o
(a) H\g‘.
\D\ fu-.. '.'\.ilull}
W) H:gh Jensity
(d) Large volume

the tollowin

\r“t\—-\-\\ ~ -;-\

] W hl\."\ 18 :l 2
!\.\\‘\\f?"::'.“
() Lemon juice >
(&) Curd > Water > Lemon j
¢) Water > Lemon juice > Cur

\d\ Curd > Lemon juice > water

T’f*e favorable conditions £

{ \ \ 4

(2) low temperature
biok & R

b) high temperature

prp— et M Tt hiab

Al Tealeel W

U U 1

OW pRIssure

{ OW DRCs=un

e
>

-

l\:‘ OV

(d) high iemperature hi

(& #]
=
=4
L]
=
[#]
-,
a
—t
[#]
o
=
=
[{]4]
s
o
e
(7]
=1
1
1
]

b) Feeling 0
(<) Dust

{d) Humidity

-,

Q Which of the following often distinguishes p

cells?

{b) Nuclet
(d) L}SO

plant cells from animal l

us

SOImC

10

ant bou\ 9.‘\ en here, 1
nd in the regions marked "A’

ol Y



JA-Apical meristem, B-Lateral meristem

(5)A-Apical meristem, B-Interczlary meristem

UA-Laerzl mensiem, B-Imercalary merisiem

@)A-Interczlary merisiem B-Apical merisiem.
— ;

¢ false semences

l

s el

., - - A 1 o ap et Tim s v 1
pparayus 15 mvolved with the ) 21

5 INVOly ith the formation of lysosomes
( b o - - - o s 3 s TAMI A - . -
vwoleus, mitoghondnia and plastic have DNA: hence they are able to
miale .,‘t-, oW SIECturA e, '.Q.'-"'-'-
" ) - £ i 2 ol e .
CFell civision by miosis gives rise 10 genetically identical cells in
whieh the 11zl number of chromosomes is mainained.
a f‘;-:: 28T 18 ;‘2‘ {:.: a5 —-‘.-r-ir.:’:a'-\_'l' !
T, ——,—— - - l
[e T o L Y s meall e - aen 12 g0 Some : i 1
= et the colummnz eprineiiem Irom ine given 09110“5 ‘1
s |
|
, - 2
£ 2 ;;“Z: L% L L
- - s p .
i Il
g3 e
{ - - .
2 e
bl L 1
) /" :.- - ~
o »
."‘/‘
\/‘
. - .
= - ¢ 4
- =/
Bhicd nf hece i
Wi ¢ tisse 5]

D2UAESEN VATOUS TEgions in cvioplasm

A pemen o, Stem eoen -4 o - - -
) It cam be the site of energy production

bz the sitz for some Siochemical activities of the cell.

S MR-

NOTE: In the following questions 14, 15 and 16, 2 statement

of Assertion i follomed by 2 statement of Reasoning. Choose

the correct answ er from the followingoptions.

a) Both assertion and reason are correct statements, and reason is
the correct explanation for assertion.

b) Both 2ssertion 2nd rezson are oorrect statements but reason is
sot the correct explanation for assertion.

¢) Assertion is correct. but rezson & the wrong statement.

_________9) Assertion is wrong. but reason is the correct statement.

B I

3



i1 ARETHRIVITREY LR LT R T YT 18 PO R T TR TR ) T N ER T Y W
H\H\llilh l‘ (T ”"l \'. l||| |.|-||“,\” ||\ i
" Wennon t R TR ‘“‘h\lln.l o bl e bbb Pt o
AnneE o et watl Bpn g plant ool
Bemnan Antmal vetb by wall
| 1) Anyerthan e o LT R TTTT RN TR TR I
, RO b ok b oy it b sttt cabsabdal e |
NOTH ¢ RS TTTIY
() ! ORI e L e 2 ke B silh P vy
o the given P ol i e fat b g questinn gy I
UXIRER{Y
]
’\l flll ,hl‘ fl“r{'l‘“‘”_u IIHJ LA T TR A A 1T ||H|| WITRITRY “”l“ ”] 1 { “,’ ’l“i "
helow n i ll|.l\'.h Dot e o b e bed wiihy g wp.h 1 wWin
abmerved that the card imoves alwmd while vobn talls i M
Glve veason for the ahove olwervition,
| (:1? Pl cotm prossesmes e ntin of vt i pesists thie chang
| W1 1R AR i uhimpe wnd e
‘l? L he cain Possesses et ol maotion, 1resises the change and hopee
i alls in the plass
(1)
1:‘? Fhe coln possesses inertia of rest, i accepts the change and henee
allsin the plass
irI? Fhe cain possesses inertia of vest, eaceepts the change and henee
alls In the plisy
Iy e
(i) Name the Taw imvolved iy this case
(i) Newton's second law of motion
(b) Newton's first law of motion
(¢) Newton s third Taw of motion
! () 1 aw ol conservation ol energy
i
" | 1 the above coin Iy replaced by & heavy tive rapee coin, what will be
(1il) | yout o wervittion . Glve reason,
|
i

(1) Heavy coin will possess more inertia so it will not fall in tumbler
L (b) Heavy coin will possess fess inertia so i will fall in tumbler

() Heavy coin will possess more inertia so it will fall in tumblen

| (d) Heavy coin will possess less inertia so it will not tall in tumbler

| (v} State Newton's st law ol motion,

a) Fnergy can neither be created nor be destroyed, it can be cony erted
? (|mm one form o another, total amount of encrgy always remains
] constant

e ——




\.h\ Ay A I TRTITITTY IR ST L R TTRYSTRIA ORI Pt B sl g
}:--n Vit AR ISTRITY “”L ” |il1‘=| 10 11 n] it ‘l\ A s ternal kg il
LRLEW
W T sy g, T B e e 1o iy MO s o Hishy
CARETE el agiog Fan alyet b ey el e e et Feabe e anl
“l\l‘l“l\"\ h“l"l'lt |.|\| Wiy ‘
b Rend (e AT PSSR EC s ey (e following avatihons fya 19
URTTRE ()
I
l““"\‘ ahjevy i the \]ull\vlw AL ey ey ol gy llllllml Wil o liogee
\ ‘l"‘“,\ Proporton o \mn]n ol thei ITREENTI I”\q" Bt
!‘g\'l‘“l\il\nn ) ‘nl]mw ey tatwe hetween (e (Wi hu-Tuu-.- i5
At the T jol M e centor ol the twa ahjeey,
M Faa MM, M,
[N '! ¥
"‘ o »
HI‘(I\‘“HHUI! loree does not |[u|u-||g| 0N
) CGOMassey ol ubjeers,
(MSeparation between the nbjecty
WCharpes on objecty
(DAeeeleration due 1o Bravily )
(1 : :
Forces ol Eravitation varles wi masses of abjecty ny
Product of muswes (DSt ol masses
(©)DHIerence of musses (DRato of musses
(i) When mass of one body 1s doubled then foree of gravitation
will
() remain siume (M) pet doubled
(©) Wil get halved () become zero,
(1v) I'he mass of the body on the moon 1y 40kg, what Is the welght on the
carth,
0 240kg b, 302N
¢, 240N d. 400k
19 Rend the given passage and nnswer the following questions from 20
(1) to 20 (iv).




——,

[ I When kidney gets damaged or does not function propemhm‘mm —

products get mixed with blood forming colloidal solution, Dialysis i
| method used for purification of colloidal solution. In haemodialysis

blood is removed from the body and filtered through a Man-made
membrane it’s called a dialyzer or artificial kidney and then filiereg
| blood is returned to the body.

( () '

|
|

What is the range of particle size in colloidal solution?

(a) <1 nm (b) > 100 nm

! |
!‘ [ (€)1 to 100 nm (d) None of these

(ii) When beam of light is passed through blood,
(a) its path became clearly visible
(b) its path becomes invisible
(¢ ) particles of blood become visible

| o

f (iii) g Which of the following is not a colloidal solution?
’ (a) Milk

(b) Blood

(c) Butter

(d) Salt solution

1 | (d) None of these
—'_-—"_———_u

[ (iv) l The zigzag movement of colloidal particles is called
" I (@) uniform motion
| (b) Brownian movement

(c) non uniform motion

(d) none of these

20 Osmosis helps in maintaining water content within a plant cell.It provides
turgidity to softer cells of a plant body.Osmosis controls the absorption
of water by root hairs from the soil.lt controls the conduction of water
from xylem elements to adjacent cells. Higher osmotic pressure provides
resistance to plants against drought injury. Osmosis plays an important
role in the transportation of nutrients and the release of metabolic waste

products within a living cell.

Egg membrane is an example of

(1)
[ | (a) Impermeable membrane (b) Permeable membrane
, (C) Semi permeable membrane  (d) Differentially permeable
membrane
|
L (i) | Read carefully and select the correct statement about 1




(iii)

| (€) Movement of 5o

(iv)

T —

T —
0sSmosis il il

(@)Movemen:

_ of water molecules from a region of hi
10 a region of |

gher concentration
Ower concentration throu

gh a semipermeable membrane.,

(b) Movement of solvent molecules from its higher concentration to
lower concentration,

Ivent molecules from higher concentration to lower

of solution through a permeable membrane.

(d)

Movement of solute molec
con

ules from lower concentration to higher
Centration of solution through a semipermeable membrane,

Name the process shown in t

he given diagram
Endocytosig 8 &

(a)Exosmosis T o
(b)Endosmosis
(c)Exocytosis
(d)Endocytosis

W, LN S /  };g ‘ L

A candidate in order to stud
potato cubes and
different beakers,
differences in the

y the process of osmosis has taken three

put them into three different solutions taken in three
After 24 hours he could observe the following

size of the potato as shown in the diagram.,

Size mareased

Size decreased

Stze rennnn same
I}

Give the technical te-r;%; of thé solutions used in beakerl,2&3

Option Beakerl Beaker2 Beaker;’, o
(a) Hypertonic Hypotonic Isotonic .
(b) Isotonic Hypotonic Hypertf)mc
(c) Hypotonic Hypertonic Isotomc'
(d) Hypertonic Isotonic Hypotonic
SECTION-B

21

The gravitational force between two objects is F. How wiltlhthe force
change when the distance between them is reduced to 1/4 ™ ?

22

i ing in ter ’s thi tion
iibe our walking in terms of Newton’s third law of mo
%%%’Drﬁtsacr:y gfe three solids made up of Aluminium, steel and wood, of the

7




2T NEDE and sane ol ™ ech O] Lhem WO oYY
e li o : LETe. O Ther Ll dVEe IE s
ro BT SUCE @ Onicket plaver moves his hand backw :
£L it odErer mon s Ris hand backward Whl!e calchin
- Or i
v - e . P - :
S o=t A and B of masses m and 2m are in mot
&% ZEAE W TORpect -': v
AR

. oo T TOLION with Velocitieg

AT FROMEIAT
e - & L 1 . q. i 1
[ L MEOGeT W P ihe 1 {he same ime
- ,
52— 17F
Pt 3
&) Wt ChEDCE @0 Bl On easily on a Taimy jd\
Bo i (e 2me bagble o
- EECE Zre DIgnly compressible while solids are almost
T T RS - =
mCOompressibie.
o) Paresr ix o - a4 3
- SAEET I3 gemerzly wrapped in wet cloth during summer if no
refrigerasor is available.
o _ -
25 Wiz volumes of etinvl 2

cohol and water must be mixed together to
prepare 230 mi of 60% yolume by volume solution of alcohol in water,

u“
,’ ~ziculzie the mass of potassium sulphate required 10 prepare it’s 10% (° ]
mzss percent) solugion in 100 gram of water. ‘
26 (a) Define 3 l
asemt heat of fusion i
(B) W rite 2nyone similanity berween three states of matter.
27 Tabulase thre

s e e

re¢ differences berween boiling and evaporation.

2% Bzsed upnn sl shzpe and cell wall composition.compare between the
simpie pENmancnt lissues pre:

lissues present in plant body.
OR
iz nizt Ciagram 10 show the longitudinal section of phloem and
label the fc';’fﬁw,é parts:
(ifThe cell mcf. helps in wranslocation of food.
| GiifThe cell which swores food

#
-

,« [Jistinguish between Prokaryotes and Eukaryotes (Any 2 differences)
(i) Define gene.

" Parsl ytic patient was unable 10 walk.

(z) Name two tissues responsible for the movement of a body.




Y

|

Y

.

Y 2
\t‘ SN

WHRSUQ present in i
) Distingu

“pInai cord (1) Kidney tubule

N Detween Lendon AT igament
‘ 'l‘{“"\‘\\ IS the i bess |
wapteg® aennisolthe plants hving i very dry habitats )
avapied
b} apy b 5, .
2 ,\ Wentiny the given Brures AKX and mention 1y function. Where is
it WRALCO 1y the non swoody [‘Iﬂlll‘-"
3
o
SECTION-C S
2 - - -
W) Fhe graph given alongsi < |} rops U S -
With lm?\\;‘. N vongside shows how the speed of a car changes s
) Whatis the iitial speed of the car?
(1 What is the maximum speed attained by the car?
(Y Which part of the _raph shows zero acceleration?
(V) Which part of the graph shows varving retardation?
(V) Find the distance travelled in first 8 hours.
a
i
(8]
{ (4] ; ; :t 'l! \'D
; L LT L P ——
Derive the equation of motion v = u +at, using graphical method ]
| l
i
OR {
The graph given below shows the positions of a body at different times. ‘
(alculate of the body as it moves "
from :
l) & I\‘ ll‘_‘ |
1) B o € and |
) Cto D, .‘
, i e : . i i
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(a) All mixtures are homogeneous '« thic SLEALETIEN Coreeqry Jugtet,

| your answer.

(b) How can a saturated soiution be nalr ansaluraied”
(c) Write one example from your Catly 1l which is baged o LT
of gases.

(d) Write two components of z ¢olinidal soluiion Glve ap erampe
OR ‘

(a) Colloidal solutions show Tyndal] effect but true SOlILOnS <ig g
Discuss

(b) Iron filings and sulphur were mixed wogether and diviged 1, bwg
parts A & B. Part A was heated strongly while Part B was ng e
Dilute hydrochloric acid was addeg 10 001h the paris ang evpiguon 8|
gas was seen in both the cases. How will vou idemi Iy the gases

evolved?
(c) Under which category of mixtures will you chassily aliovs ang v

=

YA

!

|

|
I

(i)Differentiate between striated .unstriaied and cardiac musgies or e

basis of their structure and location in the body.

(ii)Brielly explain about the fluid CoNNECLive LSSLES presen: in gyr UL
OR -

(iii)Complete the following table

YA

Husk of coconut
Stem of Lotus

Example | Tissue | Miain furction
UIn leal stalk below ihe [ — |
Lepidermis f E
!; H
|

(ii)Plants and animals are not made up of same tissues. Justh e
statement with any two relevant examples.
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Reading Hhme :
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Date: 16/9/22

[2M]
h) Web sepve
ey
[ 1M
S oy COme T 1 |.7|]J?
<) width d) length
[1M]
‘ . N ae 1‘1' iM
“ac) 1o ingeny heading o thivd 1evel on a web page? | 1M]
g Wely ARTY , ’
0) Wl Page hag 1S owp uniaue adi rsss known as [1M]
tL\ D ‘:]ﬂ N —_ ‘
£ Pages o 4 SHQ are finked gether through a system of [1M]
/) Shasway

. ACCESs a wely Page which pi » tips on how to play the games.[2M |
The upl is Iu|p:.u'www.gr:nmlnn\mnl/l w/laghiml
a) Wha SEIVET is hosting (g web page’
b) What is e

name of the fjle being aceessed?

3) Ideniif}' the 1~ollowing is 2 1ag or an a wibute (2M]
B a) border ) font Salign  d) bl

9) A school has two separate computer qetworks one is used for keeping people
and track records. The other is for peo iles 1o use in lessons 1o help with their
learning and also to stored their work.Pupils use the internet quite frequently in
their lessons to keep them with the r work. Discuss the advantages and

disadvantages of this as far as the Pupil 1s concerned. (2M]

10) Write the full form of the following ags: e

a} (L[> b) <BR> C) <HR> j)(UI >
I N =
] ) 0 Slal'l a liS[ v I[h number 5 we ShO lld Write
l

[1M]



b ot B b A Rl | <8 |

am——

_.....-____,..—--'"--"'
e Bt et

N fype=i.

a) <OA. starr=95> il < the shve

crOh. value=5~

lZiMbum!*W“HM
“head <My web page”

<title > Welcome 1o My Webpags

“‘head >

<utle>

“Body color="Red™ >

-:.h)d.\ "

<himi >

mwmmamw@ffﬂ“mm
14) Write the code to produce the foliowng

15. Write the output of the followmg coce
“body >
<table border=| >
<ir>
<1d rowspan=2>Enghsh<d>
<d>Grammar<1d>
<tr>
<r>
<1d>Comprehension<1d>
<r>
<lr>
<1d rowspan=I>Math<1d>
<1d>Algebra<d>
<Ar>
<ar>Physics<d>
<Nr>
<‘table> </hmi>

16)Wnite the code 10 produce the follow ng-outpat:

| English

conde ahag
“h
N“

e
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i) ,
&
I
¢ text at I” iy
i)a web address iia poral address
iin)an email address iv)an ¢ fice address

b)To follow a link to find informafior the user should click at
iyP iR i) i1
¢)The alignment of text at T is
i)Left ii)Right iocenter
dyThe text at § provides a way (0 con sct Ski Breaks [ 1g using

i)fax ii)post i emai iv)lelcphonc



